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A.
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80 10
70 90
A. 95%
B. 89
C. 68
D. 99
50 8 64
A. 50 8
B. 50 1
C. 50 4
D. 8 8
95%
A, 95%
B. 5%
C.
D.
2000 40% 2005
120 57 a =0.05

2005

A H,:7r=40%,H,:7=40%
B. H,:7>40%, H, :7<40%
C H,:7r<40%,H,:7>40%

D H,:7<40%,H,:7>40%
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14.

15.

16.

17.

18.

19.

20.

21.

C
D
A
B.
C.
D. 0
A.
B.
C.
D.
t
A.
B.
C.
D. Ho :ﬁl :ﬂz :"'::Bk =0
“A’,
‘GB”
SS df MS F
22.22 2 11.11 A
955.56 2 477.78 B
611.11 4 152.78
1588.89 8
A.0.073 3.127 B.0.023  43.005
C.13.752 0.320 D.43.005 0.320
Y, =100 x (0.8)t
A 0.8 B. 0.2
C. 80% D. 20%
A.
B.
C.
D.
A. B.
C. 0 D.

30%
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3. ABC N, N, AB,C

N, A B,C 0.80,0.90,0.90

1.D 2.C 3.B 4D 5C 6.B 7A 8D 9.D 10.C
11.A 12.C 13.A 14.D 15.C 16.B 17.A 18D 19.D 20.B
21.C 22.C 23.C 24B 25D 26.D 27.C 28D 29.A 30.B

1. 1 H,
P

2 P

3 P a P<a
2. 5000

5000
3. 1
2



95%

X+7 . S —1013241.96x 2234 1013240453
al2 \/ﬁ

50

100.867 101.773

2 H,:x4=100 H,: =100

_ Xy _10132-100 .,
s/vn  1.634/\50

2=5.712> 2,4, =1.96

z

df SS MS F Significance F

3 12026774.1 | 4008924.7 |72.80 8.88341E-13
26 1431812.6 55069.7 — —
29 13458586.7 — —

y =75891025-117.8861x, +80.6107x, +0.5012x,

A

B, =-117.8861
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A

117.8861 £, =80.6107

80.6107
B, =0.5012
0.5012
3 Significance F=8.88341E-13<«a = 0.05
, R2_ SSR_12026774.1 oo o0
SST  13458586.7
89.36%
5 8= SiE = JMSE =/55069.7 = 234.67
234.67
3. A B,C AB,C
P(A)=0.8,P(B)=0.9,P(C)=0.9
Nl Nl Pl = P(Nl) = P(ABC)

AB,C
R, =P(A)P(B)P(C) =0.8x0.9x0.9=0.648
N, N,
P, =P(N,)=P(AN(BUC))
A B,C

P, =P(A)-[1-P(B)-P(C)]=P(A)[1-(1-P(B))(1-P(C)) ]
=0.8x[1-0.1x0.1] = 0.792
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